
$URETÀ฀/�฀FORME฀CONIQUE฀+%
$ÀSIGNATION฀DE฀COMMANDE
,ES฀DÀSIGNATIONS฀IMPRIMÀES฀EN฀BLEU฀CORRES

PONDENT฀AUX฀DIMENSIONS฀PRIVILÀGIÀES฀PAR฀LES฀
UTILISATEURS�

#ONSIGNE฀DE฀SÀCURITÀ
,A฀VITESSE฀DE฀ROTATION฀MAXIMALE฀TOLÀRÀE฀DÀPEND฀
DE฀LA฀LONGUEUR฀DE฀TIGE฀EN฀PRISE฀DANS฀LE฀MAN

DRIN�฀AU฀MINIMUM฀DE฀��฀MM�

%XEMPLE฀DE฀COMMANDE
+%฀����฀�฀!2฀��฀/฀�฀6

%XPLICATION฀DE฀LlEXEMPLE฀DE฀COMMANDE
��฀�฀GRANULOMÀTRIE

6EUILLEZ฀INDIQUER฀LE฀GRAIN฀EN฀COMPLÀTANT฀VOTRE฀
COMMANDE�

.Ę฀DE฀COMMANDE 'RANULOMÀTRIE Ć฀DE฀TIGE
;MM=

$฀X฀4
;MM=

6IT�฀MAXI�
ADM�

;T�MIN�=�� �� �� �� ��

%!.฀�������

+%฀����฀�฀!2฀�฀�฀�฀/฀�฀6฀ 
 
 ������ 
 
 � ��฀X฀�� ������ �� ��

+%฀����฀�฀!2฀�฀�฀�฀/฀�฀6฀ 
 
 ������ 
 ������ � ��฀X฀�� ������ �� ���

+%฀����฀�฀!2฀�฀�฀�฀/฀�฀6฀ 
 
 ������ 
 ������ � ��฀X฀�� ������ �� ���

+%฀����฀�฀!2฀�฀�฀�฀/฀�฀6฀ 
 
 ������ 
 
 � ��฀X฀�� ������ �� ���

+%฀����฀�฀!2฀�฀�฀�฀/฀�฀6฀ 
 ������ 
 ������ 
 � ��฀X฀�� ������ �� ���

+%฀����฀�฀!2฀�฀�฀�฀/฀�฀6฀ 
 
 ������ 
 ������ � ��฀X฀�� ������ �� ���

+%฀����฀�฀!2฀�฀�฀�฀/฀�฀6฀ 
 ������ 
 ������ 
 � ��฀X฀�� ������ �� ���

+%฀����฀�฀!2฀�฀�฀�฀/฀�฀6฀ 
 ������ 
 ������ 
 � ��฀X฀�� ������ �� ���

+%฀����฀�฀!2฀�฀�฀�฀/฀�฀6฀ 
 ������ 
 ������ 
 � ��฀X฀�� ������ �� ���

+%฀����฀�฀!2฀�฀�฀�฀/฀�฀6฀ 
 ������ 
 ������ 
 � ��฀X฀�� ������ �� ���

+%฀����฀�฀!2฀�฀�฀�฀/฀�฀6฀ 
 ������ 
 ������ 
 � ��฀X฀�� ������ �� ���

+%฀����฀�฀!2฀�฀�฀�฀/฀�฀6฀ 
 ������ 
 
 
 � ��฀X฀�� ������ �� ���

+%฀����฀�฀!2฀�฀�฀฀/฀�฀6฀ ������ 
 ������ 
 
 � ��฀X฀�� ������ � ���

+%฀����฀�฀!2฀�฀�฀�฀/฀�฀6฀ ������ 
 
 
 
 � ��฀X฀�� ������ � ���

+%฀����฀�฀!$2฀�฀�฀�฀/฀�฀6฀ ������ 
 
 
 
 � ��฀X฀�� ������ �� ����


